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As we can see in the diagram, S is East of E.

Q24. What is the shortest distance between A and B?
A.5m

B.7m

C.11m

D. 10m

Answer: D

Explanation:
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The shortest distance between A and B is 10m

Q25. If the total number of girls in a school is 6 times the number of boys. Which of the following
cannot be true about the number of students in school?

A. Total number of students are in multiple of 6
B. Total number of boys in school can be in multiples of 5
C. Total number of students in school can be 150

D. Total number of students in school can be 700
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